oB(X - ggg)A at 95% CL [fb]

10

10

10

=

=

T T IITT

2

138 fb™' (13 TeV)

a1
<
@)

T

Wi

|

[ 2016 2016-2018
E only = combined
|

TTTTT

n

T

Ll

—— Observed limit

------- Expected limit

I Expected limit 68% CL
Expected limit 95% CL
Zg — ggg benchmark

|

|

2 3

oB(X - ggg)A at 95% CL [fb]

104

=

10

102

10

138 b (13 TeV

N

—— Observed limit

[ Expected limit

B Expected limit 68% CL
Expected limit 95% CL
Zgr — ggg benchmark

Cevwl vl

: i/ My~ 0.01%
4| 201620162018
E only | combined
2 3 4 5 6 7 8 9



